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01 At 22l 52,174 56,535 24,361
OHIZEZ AN HHESE NN £ 2LIHE HE
N ZEHI 18,000,000 = 33 * 95% 51,300
OHE& st=Hell A A3l
800,000& = 18 = 95% 760
OHIEA N Z2 HOZSAH Hal
=g 120,000& * 13| = 95% 114
203 YR =&t 2,000 2,000 0
03 Al =AY R =& 2,000 2,000 0
OJIZEtIIZHYE =& 2,000,000& 2,000
206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
OJI&4d g JI2E20Y MEM=
10,0003 = 200H = 13l 2,000
207 51 OH £l 40,000 40,000 0
01 2284 40,000 40,000 0
02020 24AIIA HIEE AN &4
20,000,000& = 13l 20,000
020218 24ItA HHE2HHKH HSAHE =8
20,000,000& = 13l 20,000
EFAEQOIEN Dot QHEE K= 98,750 95,800 2,950
= 47,000
Al 51,750
201 2et24d] 4,750 3,800 950
01 At 2teltl 4,750 3,800 950
OEHAZQOE ot & AMEAM HMZ
200 = 10,00000 = 95% 1,900
OBAZQOE JIY EEE M
1,000& = 2,0000 * 95% 1,900
OBAZEQE &8 24A8 2 MH
100,000& = 598 * 23] » 95% 950




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 94,000 92,000 2,000
2 47,000
Al 47,000
12JEEd=S 94,000 92,000 2,000
OEHAZQEN 29 94,000
OPQIHEIE XIZ(IHel)
10,000& = 8,900All CH 89,000
= 44,500
Al 44,500
OQMEIE XIS (X)) 1,000,0008 * 5& X 5,000
= 2,500
Al 2,500
s EAZERN 2 8,550 1,800 6,750
= 4,275
Al 4,275
301 EEd = 8,550 1,800 6,750
= 4,275
Al 4,275
1224 = 8,550 1,800 6,750
OXsSX BAHEQER QHEE X3
45,0003 = 190CH 8,550
= 4,275
Al 4,275
HIARSAYE 240tA JHALE(AR) 40,000 34,000 6,000
= 20,000
Al 20,000
307 2I2+0 & 40,000 34,000 6,000
= 20,000
Al 20,000
02 IS AHE L 40,000 34,000 6,000
OHIMAFZAIHE 24014 AHALE XA
40,000,000& = 1JH 24 40,000
= 20,000
Al 20,000
ek oz Jlgt &4 5,239,395 5,522,321 A 282,926
= 2,847,252
= 498,577
Al 1,893,566
DIMESX SYDCHHE o ZAl N (Fa) 230,910 480,000 249,090
= 115,455
Al 115,455
101 @14l 230,910 480,000 A 249,090
= 115,455
Al 115,455
04 DIt 22 HEE = 230,910 480,000 A 249,090
OODIMTX SYUCIHHIE ol 2EAl e124d]
230,910,000& 230,910




AN 32222 JI=FUIIH
90 HRE toIEd x4
Sl S (BB Y x4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 115,455
Al 115,455
28 AMEE SXAE EX K& 3,600,000 4,644,000 A 1,044,000
= 2,000,000
< 320,000
Al 1,280,000
402 2I2H X201 M 3,600,000 4,644,000 A 1,044,000
= 2,000,000
< 320,000
Al 1,280,000
02 QIZEHEAISEZ (01X S) 3,600,000 4,644,000 A 1,044,000
OA72 AMEHE ZEXAE & X
90,000,000& * 400 2 3,600,000
= 2,000,000
< 320,000
Al 1,280,000
==NSSEIIJ £X - 2224 N ALY 102,998 0 102,998
= 70,957
< 6,409
Al 25,632
402 QI2H X201 M 102,998 0 102,998
= 70,957
< 6,409
Al 25,632
02 QI EAISEZ (01X THS) 102,998 0 102,998
O=2=Ns=EEHIII| £x - 2822/Hl X
102,998, 000& 102,998
= 70,957
= 6,409
Al 25,632
OASX 25 AR 23 1,272 1,272 0
301 LEd = 1,272 1,272 0
09 SALEHIX A S 1,272 1,272 0
OaRH2s 2 1,272
Oslo #4X =S4H 8,0008 128 * 43 384
Od&X As HHl 74,0008 » 12H * 13 888
ol & TsXHiEotA 22 12,095 39,101 A 27,006
201 ¢er24l 11,595 14,801 A 3,206
01 At 22l 9,595 10,090 A 495
ONMH=EHE HICI2It0et HAE=X
100,000& = 23| = 95% 190
OUIILIEEE ANZE MHA UHH>=Z
1,237,500& » 8JH A » 95% 9,405
02 =224l 2,000 4,711 A2, 711
OZEX(HMIINSI) KAl
1,000,000 * 2CH 2,000




AN 32222 JI=FUIIH
90 HRE toIEd x4
S HEE HoIEA Jlgt &4 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 500 500 0
01 M= 4l 500 500 0
O&Z=ZFHl JIXMN 500
OM=g 2,500& = 2004 500
HEA OF & B3 29 1,600 3,040 A1,440
201 Let249] 1,600 3,040 A 1,440
01 At 2teltl 1,600 3,040 A 1,440
o8z F4d+g 1,600
OJlg=g 100,000& = 8Y « 23] 1,600
AN DEE RUAFHZEFI| 2e| 89,120 93,160 A 4,040
201 Let2d] 89,120 93,160 A 4,040
02 2324l 89,120 93,160 A 4,040
ORAUAFH=HI| HI|,SHL3 8,520
OoHY 23 (Z2LIEEPC)
110,000& » 12&8 1,320
OSAZ(5EIl) 15,0004 270 + 12€ 4,860
OSMSEX SHRB(ZRELA L&)
60,000& = 12& 720
O&IIe3 5,000& = 27CH » 12& 1,620
ORQAFHZHI|(27H) ANEEH S XY
80,600,000 80,600
NEE H=ARYR SIAY 1,101,400 65,000 1,036,400
= 660,840
= 132,168
Al 308,392
402 RI2HX20l 1,101,400 65,000 1,036,400
= 660,840
< 132,168
Al 308,392
02 It 2 AL EZ(OI XM THS) 1,101,400 65,000 1,036,400
ONEE M=sAEYe E5AY 1,101,400
OMNALES 600,000& * 1,150CH 690,000
= 414,000
= 82,800
Al 193,200
Og gt 200,000& * 2,057CH 411,400
= 246,840
< 49,368
Al 115,192
ST HIISEHS SEHH 100,000 0 100,000
< 40,000
Al 60,000
308 AHAIEHHSOIA 100,000 0 100,000
< 40,000




EECEESTEL
oD | YOI B
WS OIIEH |

113t
3 x4
eSS

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 60,000
11 SISO USE AN EAIS Y 100,000 0 100,000
OAtI X CHoletE SEUH 0td 89
100,000,000& * 13] 100,000
& 40,000
Al 60,000
DIMHXNZ2E HAEE &H X4 33,721,545 18,814, 169 14,907,376
= 18,575,660
< 4,369,832
Al 10,776,053
HFEA DMK 22 HH A3 29 4,400 4,180 220
201 et A | 4,400 4,180 220
01 At 22l ] 4,400 4,180 220
O3 FEHxY 4,400
(OPIE=E=; 100,000 * 11¥ * 43| 4,400
SESEAEA 2 152,141 160,919 NB,778
201 Bt A H| 152,141 160,919 NB,778
01 At 22l ] 5,225 9,025 A 3,800
ODIMIHX BEH L HANZTEX EL 5,225
(@F=3=%— 1,000& = 3,00000 * 95% 2,850
Og x5 50,000& = 5000 * 95% 2,375
02 3524l 146,916 151,894 N4 ,978
olEdAE 2dHI(HE) 37,660
(OFrsPIETE=: 400,000& = 20H ~ 12€ 9,600
Oske= 130,000& » 104 = 12& 1,560
OS Al zeldl 26,500
“AFEIH2 (2 H) 18,000,000 * 1JH A 18,000
-QE WS (ES)  8,500,0008 * 10HA 8,500
O T 2AH|I (401 7 F) 6,400
Oshe2 50,000& * 404 = 12& 2,400
S X2 H| 1,000,000& = 4CH 4,000
OO0MEH X &el0l Ass 29| 8,280
(OrsPIETE=: 70,0008 * 12& 840
Oske= 10,000& = 12004 = 12&€ 1,440
S X2 2=t 500,000 * 1200 A 6,000
OMIIE =HIU 2 (MY, @&, JIE) 94,576
(OFsPIETE=: 200,000& = 3HA * 128 7,200
Oske= 50,000 = 3M A = 128 1,800
OS Al zeltl 17,700,000 * 302 53,100
OA22EH| 9,000,000& * 37 A 27,000
O& =& Al 5,476,000 * 1JH A 5,476
Uoleeael 400,080 423,840 N 23,760




AN 32222 JI=FUIIH
90 HRE toIEd x4
Sl DIMSIX2RE QFE #Y X4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 400,080 423,840 A 23,760
01 At 22l 342,000 342,000 0
OUIIEZEML a==Xt Xt
60,000,000 = 6CH * 95% 342,000
02 =224l 58,080 81,840 A 23,760
OloT OIMEHX 22l &6 MHlAH
231,000& = 2004 « 128 55,440
OloT DIME X 2tel £F48 S4ld|
11,0003 » 20004 « 123 2,640
s 2 HE 51,024 31,200 19,824
201 Let249H] 51,024 31,200 19,824
01 At 22l 2,828 0 2,828
OXNSX 2HME 2 £ DXNAM LS 2,828
OS2 ot E 90& =+ 25,00000 = 95% 2,138
O2&#HME HEHE DXAM
72,6003 * 1022+ 95% 690
02 =24l 48,196 31,200 16,996
OXS S HMS AIAE(CCTV) 22l 27,196
Oo&IJIg3a 30,000 = 20CH = 12& 7,200
Ostles 1,461,000& * 128 17,532
Os X E=Hl 154,000& * 1690 2 2,464
ORER=S 21,000
oget 350& * 25,0008 8,750
OsJl 2,450 = 5,000 12,250
HBoix RUXNA(MISE) 4,800,000 5,120,000 320,000
= 2,240,000
< 1,024,000
Al 1,536,000
402 RI2EX20| 4,800,000 5,120,000 A.320,000
= 2,240,000
< 1,024,000
Al 1,536,000
02 QI 2 AL EZ (01X TH ) 4,800,000 5,120,000 320,000
oonEZE MIANSA 72 XN (S5E)
15,000,000& * 320CH 4,800,000
= 2,240,000
< 1,024,000
Al 1,536,000
MNIoHxt PR (HIAESE) 5,000,000 1,458,000 3,542,000
= 3,200,000
< 360,000
Al 1,440,000
402 RI2EXt20| N 5,000,000 1,458,000 3,542,000
= 3,200,000
= 360,000




2N
X ZH -
L= B
el

Eis] FL“J

0w

el 2
0 JhRE tHolerd

2 II=UoI

=REY

IMSXIZ2RH &8 883 =4

SA -

Ha - el (3H) -

N2 A

01
o

Off &t 24

=

i
2m

Al

1,440,000

SXR(0ITHE)

ANSA 2g XE

(AEEE)
25,000,0002 * 200CH

= Hn

5,000,000

5,000,000
3,200,000

360,000
1,440,000

1,458,

000

3,542,000

&

JIOIEXESAISE

H

Al

72,000

36,000
36,000

69,

000

3,000

H

Al

72,000

36,000
36,000

69,

000

3,000

SX(0IHE)
HII0lEX #Y K&

1,800,000& = 40CH

= N

72,000

72,000

36,000
36,000

69,

000

3,000

= N W

396,000
198,000

59,400
138,600

96,

000

300,000

402 2I2tXt=01&

= N H

396,000
198,000

59,400
138,600

96,

000

300,000

12,000,000& = 33CH

= M W

396,000

396,000
198,000

59,400
138,600

96,

000

300,000

LPGIFA Xt

2 P

22X

= M W

750,000
375,000
112,500
262,500

250,

000

500,000

402 BI2FX=01 M

= W

750,000
375,000
112,500
262,500

250,

000

500,000

EX(0I M)

NSRS SN
5,000,000& = 150CH

= Hn W

750,000

750,000
375,000
112,500
262,500

250,

000

500,000

MO

02

AKX HHEIA M2 MY (XIIH XX L)

A

10, 176,400
6,092,160

1,905,

990

8,270,410




2N
X ZH -
L= B

el

2222 JIFUo1n
0 OHRE toled x4

(=}

IMPIX22E QEE 88 T4 CCHR-ED

Eis] FL“J

0w

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

H

1,218,432
Al 2,865,808

201 fEt2E | 22,800 8,550 14,250

01 At ] 22,800 8,550 14,250

g a
00& * 8,000CH * 95% 22,800

402 2I2tXt=01& 10, 153,600 1,897,440 8,256,160
6,092,160
1,218,432
2,843,008

= N H

02 U TEALEZ(0IETHR) 10,153,600 1,897,440 8,256, 160
OL=ZRX ZJIHI X
1,600,000& = 6,346CH 10, 153,600

6,092,160
1,218,432
2,843,008

= M W

H0
o
N

WS OtA M2 A (2 & XHOPF) 7,752,000 241,990 7,510,010
3,876,000
1,162,800
2,713,200

0
0
10
>

= N W

402 2I2tXt=01& 7,752,000 241,990 7,510,010
3,876,000
1,162,800
2,713,200

= W

02 QX2 ML E X (01X THE 7,752,000 241,990 7,510,010

DPF) & X &
00,0002 * 2,040CH 7,752,000
3,876,000
1,162,800
2,713,200

@~ —

= 0N W

Ho
0
0
10
Pl
T
N
[>
>
0y
>
114
ry
X
A=
X
2
™
EJ
>

1,402,500 412,500 990,000

841,500
168,300
392,700

= N H

402 BI2HX=01 M 1,402,500 412,500 990,000
841,500

168,300
392,700

= MW

02 P2 EALEZ(0IETHE) 1,402,500 412,500 990,000
H AXWH XA

16,500,000& * 85CH 1,402,500
841,500
168,300

392,700

= MW

AR HWESItA M2 ALY (24 & J1 HI0PF) 220,000 231,000 211,000
132,000
26,400
61,600

MO
02

= W




AN 32222 JI=FUIIH
90 HRE toIEd x4
Sl DIMSIX2RE QFE #Y X4 CERED
4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 220,000 231,000 11,000
= 132,000
< 26,400
Al 61,600
02 QI EAILEZ (01X S) 220,000 231,000 A 11,000
OAHEIIH HAXMZEXI(OPF) 2= X
11,000,000 * 20CH 220,000
= 132,000
= 26,400
Al 61,600
AR HEIOtA M2 AL (LPGSH =2 At 920,000 280,000 640,000
= 460,000
< 138,000
Al 322,000
402 RI2FX=01 M 920,000 280,000 640,000
= 460,000
< 138,000
Al 322,000
02 QI EAILSEZ (OIS ) 920,000 280,000 640,000
OLPGSt2 Xt &I Xt 7 K&
4,000,000& = 230CH 920,000
= 460,000
< 138,000
Al 322,000
HBoix RUKNA(LSE) 1,625,000 8,125,000 A 6,500,000
= 1,125,000
< 100,000
Al 400,000
402 QI2H X201 M 1,625,000 8,125,000 A 6,500,000
= 1,125,000
< 100,000
Al 400,000
02 QI EALS EZ (01X THS) 1,625,000 8,125,000 A 6,500,000
020218 =A2HI|I X 2 K&
32,500,000& * 50CH 1,625,000
= 1,125,000
< 100,000
Al 400,000
M (222 JIZFUIIDN) 38,054 45,972 AT,918
Jl=&l 38,054 45,972 AT,918
Jl2ztl 38,054 45,972 27,918
201 Let24d] 15,498 15,660 A 162
01 At 2teltl 15,498 15,660 A 162
OJl2g==8dHl(JI&&Hl)
500,000 = 14 = 90% * 97% 6,111




0% rior
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A= IS
HedZH (s 2elee =)
=23

SN BA(SA) - MRAY - BES il HImEET
O=ZHI(J1E&HI)
8,000% * 14% « 8L = 128 = 90% * 97% 9,387
202 O4dl 19,556 23,712 A4, 156
01 = LH 4 Hi 19,556 23,712 N4,156
O=3UadatI(IIEZ4l)
20,0003 * 149 » 62 * 128 * 97% 19,556
203 @R =&l 3,000 3,000 0
04 FENSELR=LH| 3,000 3,000 0
©2J|F X (152! 0ldt) 250,000& = 12& 3,000




Zaf: o
el 36

A

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
st =2 ANFFA 31,387,978 36,258,760 N4,870,782
= 1,765,500
& 485,400
Al 29,137,078
9N JHRe HEEA HEF X4 31,323,492 36,188,635 N4 ,865, 143
= 1,765,500
o= 485,400
Al 29,072,592
365 MRse HE 14,412,280 14,295,238 117,042
SHEZ222 2e 591,541 669,616 AT78,075
101 21 214| 491,928 483,593 8,335
04 JIZtHIZ22XNSES 491,928 483,593 8,335
OSZEZ22A FAUAM JIAHIEXN 212 491,928
oJleas 82,260 * 18" » 262 x 118 423,475
OO0r2t=¢& 5,1408 * 18¥ » 22& x 1€ 22,390
Oo4lEsg 24 =2 46,063
-=013 423,475,000& * 4.5% 19,057
-HAEE 423,475,000 * 3.335% 14,123
“AJRUYEE 14,123,000& * 10.25% 1,448
-lsgd 423,475,000 * 1.65% 6,988
-MHEE 423,475,000& * 1.05% 4,447
201 et 39,213 33,963 5,250
01 AP 2t 2] H| 11,973 12,123 A 150
OBHZIIME J=y2 A
250,000& = 12€ * 90% 2,700
OHATLIME YHAS Y HA
350,000& * 53] * 95% 1,663
OSEZ2RAHEEH A &L 8FI| A
7,050,000& * 13| * 95% 6,698
O&"LD| AXES 40,0008 = 20H ~ 128 * 95% 912
02 E2=22%H| 8,520 8,520 0
OXAHX SFHI 1,275 = 1,200L 1,530
O XIAH X & XH| 2,000,000& 2,000
OXAHX B8 = 150,000& = 1CH 150
OXAHX BA=xx=E 50,000& = 1CH 50
Ot &2 HEH =&KXl
2,401& * 1,995m 4,790
03 HAI2 G HI 18,720 13,320 5,400
OBHAZEXR g AA HAHHEEEZEX 9H) 18,720
OSla9s HAES 2,520,000& 2,520
OEAIN |2 ANE 1,800,000 = 9JH 16,200
203 @ =T Y| 4,000 4,000 0




SN BFRRS HEIHY
HE: oD RS BECA BFE X4
&l 365 MRE F= (cho &)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A F=XH R =ZH| 4,000 4,000 0
ONBIM Y BADLN YL =7
4,000,000& 4,000
301 LEHZ 55,600 147,260 A 91,660
09 HALAHIX A S 55,600 47,260 8,340
OBATLH LSEHY MK
100,000& * 278%H 27,800
OBAZLN HIXAS YIS
100,000& * 278%H 27,800
303 L& 3 800 800 0
01 243 800 800 0
ORHHAZLH HF
100,000& = 2 = 401 2 & 800
HEMY Il Ml 12,095,499 11,638,906 456,593
201 249 880,079 1,114,389 A 234,310
01 At 22/l 68,875 88,825 A 19,950
OstHE Ml s E22 M
5,000& = 8,0005 = 95% 38,000
OXYX EIAIZ SHEMSE FHAEAH MA
50& = 5,000MICH » 10& * 95% 2,375
OFAREA B&EIH ME
100,000& » 20H * 95% 1,900
OAQ SB3ZAN =&
35,000& * 4% » 2002 * 95% 26,600
02 =24l 811,204 1,025,564 A 214,360
OFAXE GPSHZI| A& EHH 7 XHI
2,000,000& 2,000
OBLXZZC|AIAE GPSHIUD AEBE
400,000& = 12& 4,800
OMEEF=NELEXNETL HIRS
7,000&  1CH = 128 84
OMEUIISEEIl ZAICCTV SEALE SAR
=2 300,000& = 12& 3,600
OUEHIIE 26t d | E=Hl
60,000& = 12& 720
OHJIIEXMERE=S 800,000
(OFE = 10,000& = 100,000& = 50% 500,000
@ E=] 15,000& = 20,000& 300,000
207 & O &l 62,000 87,700 A25,700
01 2284 62,000 87,700 A25,700
OMEBHIIZ +T20 HHBA HL(AS &
NEE) 89 12,000,000& * 13l 12,000
OBFA AN 28 A28
50,000,000& = 13l 50,000
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X ZH -
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el

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 LEHZ 152,100 130,600 21,500
09 HALAHIX RS 10,000 0 10,000
OAMSEFHMY I E0171 XA
2,500,000& = 401 2 & 10,000
12 JIEBHE4 3 142,100 130,600 11,500
O=2EZ SSAA Mel243 126,500
OsX4 15,000& * 2,600 39,000
(@)= PN 25,000& * 3,500H 87,500
O2doteA 2el &R0/ 2Z
20,0003 = 13J0H * 5 = 128 15,600
307 glz2+ol & 11,001,320 10,306,217 695, 103
05 RIZIRI &3 11,001,320 10,286,817 714,503
OMEHIIS +F28 HHssE
11,000,000, 000& 11,000,000
OHASI ~T28 Ha+4+2
110,000& * 12& 1,320
Mol SEH &5 ME 2 2= 1,725,240 1,986,716 N261,476
206 M= Hl 1,724,240 1,985,716 AN261,476
01 =8l 1,724,240 1,985,716 A 261,476
oXrHIIEEM #ASE HAE 1,592,000
Ogers 1,500,000
-52lH S 108 1,000,000, 000& 1,000,000
-MHAFE (102181 S 38) 500,000,000 500,000
Ozzg 92,000
=502l s 38 92,000,000& 92,000
oRzXz3E(202H) 57@ * 2,300,0000H 131,100
OFUX REXSE(202lH) 573 = 20,00004 1,140
301 LENF 1,000 1,000 0
12JE 243 1,000 1,000 0
OSYHRA=SE RS ¢ B4z
500,000& = 23l 1,000
HY d=& Jgxy 12,096, 149 13,607,677 A 1,511,528
= 47,500
< 84,500
Al 11,964,149
SASF HJISE Mel & 2 9,916,822 9,269,880 646,942
201 Let24E] 358,822 348,846 9,976
01 At 22l 114,080 114,000 80
OsA=EFHII=2 M8 HRES 52
30& = 2,700,0000H * 95% 76,950
OSA=SEH s EE= MA
3,000& = 10,0000H * 95% 28,500




SN

3
B oD HRE BETA
K =]

e
R HAY d=8 J|gXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
ORFIDEXIMNICH AHZQE XS(202IH Z2Hl
25) 370 = 20,0000 * 95% 7,030
OSAZFHIIZS LMAH SUTIIRAJSG &
MG 100,000& * 8% * 23| 1,600
02 E2=2=2%H| 244 742 234,846 9,896
ORFID HE HEHHl KX 22l
1,700,000& = 1,286CH * 8% 174,896
ORFID JHE H ZFHHl Sald|
4,526 = 1,2860H  12&€ 69,846
301 et A= 78,000 75,534 2,466
12 JIEtE2 A= 78,000 75,534 2,466
OZEFY SASRHIIE Hel+4+z B4l
s 5HAZ 11,0008 « 130,000MICH * 5% ~ 12&€ 78,000
307 2Iz2t0| A 9,410,000 8,760,000 650,000
05 QIZ2tR EF 2 9,410,000 8,760,000 650,000
OSAZSEHIIZ 2T AAUBS2R
120,0008 = 200 * 365 8,760,000
OSAZSRHIIEZE UARAEXNE=EE
650,000,000& 650,000
402 BI2H X 20| M 70,000 52,500 17,500
01 It EANSEXR (M) 70,000 52,500 17,500
OSAZSMY I RMHEII KA OIIER)
875,000& = 100CH = 80% 70,000
22 432 13123 AlEAAH 1,100,687 478,063 622,624
201 et 9| 72,101 57,813 14,288
01 AP 2t 2| bl 72,101 57,813 14,288
OFFANMEE=EEG AJSG HFAELH
100,000 = 14% * 23] 2,800
oMz =2sthis s22 M
1,000& = 25,0000 * 95% 23,750
OZ0|™ WEAIY (EX XB)
530& * 25,00000 * 95% 12,588
oMz E2xtis 22 228
575% = 5 0000 * 95% 2,732
oMz 2xtis HNEgegsua 29 1,463
O A& 35,000 * 403 * 95% 1,330
Osl =9 70,000 * 23] * 95% 133
oMess =5l g2 842 M
70,000 * 48JH A& * 43 * 95% 12,768
OO0l A ™ THAIE 2S48 &8 9
1,000,0008 = 23| » 8&€ 16,000
206 M Hl 32,000 41,900 A9,900
01 =4l 32,000 41,900 A 9,900




2N
X ZH -
L= B

el

HECA 8F =4
CESE!

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OHEZS HNEX =HE
300,000& = 40052 = 1000 £ 12,000
OFEXY L= £=HE 1,000,000& * 204 20,000
301 dEtE M= 17,272 18,200 N 928
09 #HAIAHI XIS 2 272 0 272
OFFA MESFIEASG A
8,000& * 17¥ x 23| 272
12 JIEtE A= 17,000 18,200 A 1,200
oMegss =& ZFXUE Ea 17,000
Osr W (1004 w) 8,500
-X R 1,500,000 * 2o 3,000
- 1,000,000 * 3o 3,000
& 500,000 = 5041 2,500
OZ2S T (10HA) 8,500
-X 2% 1,500,000& * 20 A 3,000
- 1,000,000 * 3 3,000
-&d 500,000 * 50 A& 2,500
307 QI2t0| ™ 969,314 360, 150 609, 164
04 CIZ2tSHALALS B = 14,114 14,550 N 436
OotuUBItE LIs&H 14,550,000& * 97% 14,114
05 QIZtR &2 955,200 345,600 609,600
O300MICH DI BSF& HHY - 22tAE QI
2t == 1,200 * 28, 000MICH = 12&€ 403,200
OBETY HHlLH PAHBE2R
230 * 200,000AMICH = 12& 552,000
402 BI2H X =20l M 10,000 0 10,000
01 It EANSEXR (MMM A) 10,000 0 10,000
ORMEZHAHI &X XN
1,000,000& = 20CH = 50% 10,000
SZEHHY =HEANZ 440,000 440,000 0
= 40,000
o 80,000
Al 320,000
301 et ™M= 440,000 440,000 0
= 40,000
o=} 80,000
Al 320,000
12 JIEtE2 & =2 440,000 440,000 0
OsZHHY =HE A 110,000& = 4,000& 440,000
= 40,000
& 80,000
Al 320,000
SE zAeYE £ 11,440 11,440 0
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X ZH -
L= B

el

Zooes HAYHI
D ONTE HACA HF x4
NEIRSES UPIICTE ¥

SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
301 YBEHZ 1,440 1,440 0
ERIEENE 11,440 1,440 0
CEETEES NP 1,440
osely 1202 * 2,000kg 240
OETIENS 3202 * 35,000kg 1,200
SASRHIIS WEHYI LXAY 123,200 123,200 0
401 AIEHI L S THHI 123,200 123,200 0
01 Al Hl 123,200 123,200 0
SAZRHIIS HEHYI £XAY
2,214,002 * 50CH 110,700
OSAZSRHIIS HLEHZI HUAL
250,008 * 50CH 12,500
sorelE 48 S8 15,000 16,000 A1,000
< 4,500
Al 10,500
206 H 2 bl 15,000 16,000 A1,000
= 4,500
Al 10,500
01 HZHI 15,000 16,000 A1,000
OSuBEEIE AXIAL
500,008 * 3074 £ 15,000
< 4,500
Al 10,500
TSN SN 25,000 25,000 0
2 7,500
Al 7,500
401 AIEHI L S THHI 25,000 25,000 0
2 7,500
Al 17,500
01 Al bl 25,000 25,000 0
O=ZHHY ZSHIE &1
5,000,000 * 54 £ 25,000
2 7,500
Al 7,500
HEA MESAUME 29 464,000 340,004 123,906
307 2120l & 450,000 337,004 112,906
05 BI2teIet 3 450,000 337,004 112,906
OMESANHE 222 243
450,000, 0002 450,000
401 AIEHI L 2 TH B 10,000 0 10,000
01 Al 10,000 0 10,000
OMESASHE Ade
10,000,008 * 174 10,000




AR ==
M ot JHRE HEZA
& <]

5 e
R HAY d=8 J|gXH (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
405 XHA&HF S HI 4,000 3,000 1,000
01 AL 2 ZF S| 4,000 3,000 1,000
OAE M= DI 4,000,000€ = 1CH 4,000
MM HII=2el 19,021 19,004 17
HOIS Xl A & 22l 19,021 19,004 17
201 LBt ]| 17,904 17,904 0
01 AP 22| H| 13,604 13,604 0
OHJIIZ NEEBAMA HE
8,0008 » 53 x 128l % 95% 456
OZARYU(HIISHH M2AHA)
100,0008 » 2= * 95% 190
O=HMEHIIZ2 Melx=2=2
300,000& * 10E€ * 95% 2,850
O=SYHMEHII =S 2= &H =
400,000 ~ 1 = 95% 380
OHIIZ 4224 2442
300,000& * 63| * 95% 1,710
OHJIZ2 HEXe Mg I H&
5,000€& = 1,0008 = 95% 4,750
OHIISYH NEHEE ¢ 3,268
2= 130,0008 » 8% * 95% 988
ogst= 150,0008 » 8% * 95% 1,140
(OFSF=5= 150,0008 » 8% * 95% 1,140
02 =224 H| 4,300 4,300 0
OHJIZXNE & & & A 22l
4,300,000& 4,300
301 et M3 1,117 1,100 17
12 JIEtE A= 1,117 1,100 17
ORIZ2HHUEA ML S=sHA
69,7603 x 4H x 43| 1,117
HII2 H2lAE &= 4,796,042 8,266,716 N3,470,674
= 1,718,000
o= 400,900
Al 2,677,142
HEA M220HEHE Z4ALY 3,618,900 7,165,143 N 3,546,243
= 1,718,000
o= 400,900
Al 1,500,000
403 XX S M S X201 & 3,618,900 5,659,743 N 2,040,843
= 1,718,000
= 400,900
Al 1,500,000
02 Z2I)|2SoUeHI & E A I 3,618,900 5,659,743 N 2,040,843




2N

Ha: oo e
e HIIZ2 HM2AE &5 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
©O HFA M2l & LAY
3,618,900,000& 3,618,900
2 1,718,000
o=t 400,900
Al 1,500,000
AN 2AEESH OIS FoU=2AS 1,177,142 1,101,573 75,569
201 Bt 11,558 13,458 A 1,900
01 AP 22| H| 8,360 10,260 A 1,900
ONM2MEH L FO=2AAIYE HEEO X
x| 800,000& = 1CH = 118 * 95% 8,360
02 2224 H| 3,198 3,198 0
OM2MEd L FO=IAAIY A NHR
S 1,300 * 10.25L » 240 3,198
401 AIEHIZL 201 Y| 1,165,584 1,088,115 77,469
01 Al&H| 1,161,552 1,084,335 77,217
oOFsd7=E 70,000,000 70,000
©OH|ol25= 70,000,000 70,000
O %213 70,000,000 70,000
o2l 14= 70,000,000 70,000
OA& 26 70,000,000 70,000
oK XBE 70,000,000 70,000
OXs158 70,000,000 70,000
OXs 16 70,000,000 70,000
OANE18E 70,000,000 70,000
OdE28= 70,000,000 70,000
OHlol21E 70,000,000 70,000
og =12l 70,000,000 70,000
O & =32 70,000,000 70,000
oOstE 12l 70,000,000 70,000
O A2 12| 70,000,000 70,000
O AtQI22] 70,000,000 70,000
OFU7E S 160 FToUSIAAIY AAIEHE
=) 1,120,000,000& = 3.71% 41,552
03 AlE 21| 4,032 3,780 252
OFUTE S 1602 ZOSAANY =7 ANLL
CH HI 1,120,000,000& = 0.36% 4,032
HM2IAH (B2 EE HAAEMY) 64,486 70,125 N5,639
JlE&dl| 64,486 70,125 AN5,639
Jl2&Hl 64,486 70,125 N5,639
201 et 27,358 28,816 A 1,458
01 AFR 2t 2| bl 26,248 27,706 A 1,458




SN BFBARE VAEHDY
M YA (Z 22 NI
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
oJl2geda=aH(JIE&Hl)
500,000& = 23H = 90% 10,350
O=ZHI(J1E&HI)
8,000& » 23H * 8% » 12& » 90% 15,898
02 =224l 1,110 1,110 0
OA&ZHI S X 1,110
OLE= A 15,000,000& = 1CH * 6% 900
O&E R =Z A 3,500,000& = 1CH = 6% 210
202 oddl 32,928 37,109 A4,181
01 = LH o4 1l 18,528 22,709 24,181
O=UWAHI(JIEZHl)
20,000& 169 » 62 * 128 * 70% 16,128
OHJIEMeld 3lJt & NEHB (BB E)
200,000& = 1¥ = 128 2,400
02 M| 14,400 14,400 0
ogHub(HIIEZXNCE)
200,000& = 6% = 128 14,400
203 YR =& 4,200 4,200 0
04 FN2IELSZ=TH| 4,200 4,200 0
©J| & X (252! 0ldt) 350,000& = 123 4,200
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A & 0l & AF 2 E A A
2021 =204k e S32Ac=2R SIFHY ~ SF 2 ot ==& 2 1t
SN sEBRER NABY
M HIISES NEctsE &Ed ANE2Y
& =20 ¢adl=E HII2 MelAlE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZzze28 M2l 27,675,713 23,282,502 4,393,211
= 40,000
< 36,750
Al 27,598,963
HOI2S NUsdle 283 ANd2d 21,927,794 17,725,995 4,201,799
= 40,000
< 36,750
Al 21,851,044
=010] QtAlGtE HOIS MelAl&d 21,285,479 17,057,730 4,227,749
= 40,000
< 36,750
Al 21,208,729
AT LA2AAL &2 8,243,800 7,796,587 447,213
206 = Hl 2,800 4,739 21,939
01 MHZ 4l 2,800 4,739 A 1,939
OA2AANEY T MEHUYE S2sE
400& * 7,000kg 2,800
207 RO 200,000 226,359 A 26,359
01 A2 39l 200,000 226,359 226,359
OBFAZALANL 1,257 BALHETA
29 200,000,000& * 13l 200,000
307 21201 A 6,636,000 5,397,500 1,238,500
05 RIZt2IE = 6,636,000 5,397,500 1,238,500
OME(HE)HIIE fIEMl 6,636,000,000& 6,636,000
401 AIEHIZL 2CHEI 1,405,000 2,167,989 AT62,989
01 A& Hl 1,405,000 2,167,989 AT62,989
OAAANE15I] HIILLSE M2 &l (SCR)
mps| 955,000
O3 AtH| 936,000, 000& 936,000
O& A& 19,000, 000& 19,000
OA2ZAIE25D] HUE XD SHEH WAl 182,000
O3 Atdl 176,000, 000& 176,000
(OFSPNE=; =] 6,000,000 6,000
OX2tAE1,250] 24 HMAHAH LA 268,000
O3 AtdI 259,000,000 259,000
O& A& 9,000,000& 9,000
HES HEE 2922 1,148,503 489,455 659,048
201 L4l 202,523 217,241 AN 14,718
01 At 22l 119,680 131,323 A 11,643
O ZE I ZA =2 69,740
omAMYE BE4
340,000& » 1JHA = 128 * 95% 3,876
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2N
X ZH -
L= B

el

g2 22
HIIES N3sfotes dSE ANE2S
=010 etMGl=E HIIIES MelAlE

CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
OZIMEEH MIIKS 25,098
OJlegs 12,768
~QBEE ()11 DA
8,230 * 73KW = 1A = 128 7,210
“MHE(Z) I D2A
74703 * 17KW = 1D + 128 1,524
~M B (2)11 DA
7,470 * 45KW * 1DH A + 128 4,034
OFSE=R=o8=, 12,330
-~ BrE (2) 11D 2A
135& * 4,000KW » 1JHA = 128 6,480
—ArEE(2) I DA
90 * 3,500KW * 1JHZA = 128 3,780
—MAE(2) DA
115& = 1,500KWH » 1JHA » 128 2,070
OZZMHEHE HIIR=S 947
oJlges 431
-=EHEHE 9103 * 15KW » 10HA + 123 164
-AEE(Z)M
5,550 * 4KW » 14 « 123 267
OFSE=R=3°4=, 516
-TEHZE MY 93F x 200KW » 1IHA « 128 224
-AEE(Z)M Y
813 = 300KW » 1A » 123 292
OF2MHE T A&8HZE ML= 1,573
OJIges 1,466
A E(Z)Me
5,550 * 22KW = 1O A = 128 1,466
OFSE=R=3°4=, 107
-MEE(Z)M Y
81& * 110KW » 10HA « 123 107
OXS XAl 2& HAl 1,412
ougss 660,000& = 104 = 13l 660
O4adgst2s 26,000& = 208 = 13l 52
OUgst=(8.58) 120,000& = 100 = 13l 120
OUEst2(YEEH)
220,000& = 104 » 13l 220
OgZ(158) 180,000& = 200 = 13l 360
OHIAMERL S (XE) 540
(OFE=-3cI3 80,000& = 104 23l 160
OUEs=(8.58) 190,000& = 1CH = 23] 380
OXNUEEH= (MY, TF) 3,090
Otiess 516,000& = 104 = 13l 516
O4dgst=s 340,000& = 204 = 13l 680
O=8st=(5E€) 500,000& = 1CH = 13l 500




A 32A22R T
=

M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OUds=(8.58) 500,000& = 1CH = 13l 500
OUEst2(AEEH)
894,000& = 1CH = 13l 894
oOs&H 2= 2,000
O=24D] 2 48 400,000& * 5CH = 13 2,000
Ooxg & SHU AL =2 483
OX+H& 60,000& = 404 = 13l 240
Os &l 48,500& * 5CH = 13 243
(©F4=|E=PN}] 1,377& = 1,0002I&H ~ 123 16,524
O Xt& & Byl 27,600
Os8x 4,900,000& =« 1CH 4,900
Ost2xt 4,300,000& = 5CH 21,500
O (AEY HIE)
100,000&  1CH = 12 1,200
QU =2l 50,0002 * 504 250
ORESAHI (A Z CCTV)
200,000& = 12& 2,400
ORESAHI(SHMEE CCTV)
38,5503 * 24 + 12& 926
203 YR =&l 2,000 2,000 0
03 AIMF=AH 2 =AH| 2,000 2,000 0
OHJIZE HEZE g2=2 2,000,000& 2,000
206 M= Hl 33,980 80,314 N 46,334
01 =8l 33,980 80,314 A 46,334
ONME & & FHOES YIAS 13,440
OHA MZEHM(MHE EL)
3,000& * 20L » 20 * 6& 7,200
OHA SHAMNEE & J&d XY)
,000& = 20L = 10& * 68 3,600
OLAMSH(MHEE & A XA)
22,0003 = 1L » 208 * 68 2,640
O=EE =8=M 13,000& = 100m 1,300
ORTM=E (=2 AE)
1,700& = 5004 = 43| 340
OFE=+ 01822 E4E 111 4,500
Ot 23 A &2 100A 360,000& = 6H 2,160
Of2EA & 150A 390,000& = 64 2,340
O 2g&el8 A28 UM
5,000,000& = 13l 5,000
o33zel 5,400
OM=M & &= 18,0002 * 3004 5,400
OZsZE(MEHE A2EE HMEHIE)
400 = 10,000kg 4,000
401 Al HIZ 201 8] 910,000 189,900 720,100




Y. B (3H) - HEAY - BES o A o SSa H RS2
01 A& HI 910,000 189,900 720,100
ZAMEE 4 MY EXS A
800,000, 000& 800,000
OZAME & AIEKRXE2H| 90,000, 000& 90,000
OZ=&Hl =a4Adl 15,000
O PIR=E=S 2,500,000& * 2CH 5,000
O=4D] 5,000,000& * 1CH 5,000
O=2& M 5,000,000& * 1CH 5,000
O&FEs NeX =4 5,000,000 5,000
2838 dEAE 22 4,090,000 1,440,670 2,649,330
307 212t0| & 3,990,000 1,241,070 2,748,930
05 QI2tRE 2 3,990,000 1,241,070 2,748,930
OMEEE HEAE 22l 3,990,000,000& 3,990,000
401 Al HI L 2 0HHI 100,000 160,200 A 60,200
01 A& HI 100,000 160,200 A 60,200
OMEEE HEANE FAE4H|
100,000, 000& 100,000
AMEZ2HIIES ANIASAIE 2 7,576,988 7,240,038 336,950
307 212t0| & 6,754,988 6,599,988 155,000
05 A2t E 2 6,754,988 6,599,988 155,000
OSAEZEFHIIZE XNIASAE 2EH|
3,499,992,000& 3,499,992
SIEHIIZE HUKXSBIAIE 29|
3,254,996,000& 3,254,996
401 Al HIL 200 822,000 640,050 181,950
01 Al &bl 822,000 640,050 181,950
OSASFRHIIZE KNISAIE TIIMEED WA 335,000
O3 Att] 323,000,000& 323,000
O& A& AHHI 12,000,000& 12,000
ORIIALHIIZS HUXISAIE EFEH a4 487,000
OZ2 Akt 473,000,000& 473,000
O&l Al & A 14,000,000& 14,000
SHNH X EIS 22 52,688 90,980 N 38,292
201 et A | 18,000 18,000 0
02 =294l 18,000 18,000 0
OrSZNUHKNES HI2S
1,500,000& * 1A = 128 18,000
206 M= Hl 4,688 22,980 N 18,292
01 &2 bl 4,688 22,980 N 18,292
OXEBHNUHKXEIE S=&8AE SH22) 4,688
o224 THM 4,688,000 4,688




AN 3222 A 2el
M HIISES NEctsE &Ed ANE2Y
& =20 Syot= HII2 MelAld (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
T AEHZXEUY 30,000 50,000 A 20,000
01 A& HI 30,000 50,000 A 20,000
OZSZUUXES2 SHI2AIE 2=H]
30,000,000& 30,000
22EAE 1280 SUESI| 2AHEH £X 100,000 0 100,000
= 40,000
Al 60,000
401 AIEHI L 20HEI 100,000 0 100,000
= 40,000
Al 60,000
01 A& HI 100,000 0 100,000
OX2AE 1,280 2SS AUHEH &X 100,000
O3 AtH| 100,000, 000& 100,000
= 40,000
Al 60,000
HEESSHEANE =dE HEAHOAH WA 73,500 0 73,500
< 36,750
Al 36,750
401 AIEHI L 2] 73,500 0 73,500
= 36,750
Al 36,750
01 A& Hl 73,500 0 73,500
OMEBESHEANLE =8 HEAHIONH A 73,500
O3 Al 70,000,000& 70,000
< 35,000
Al 35,000
(OFSPNR=; |} 3,500,000& 3,500
< 1,750
Al 1,750
FOUXNHEEAM 29 642,315 668, 265 A 25,950
ZAL2AAE FUXIEAN 2 S XA 313,350 328,753 A 15,403
301 LA F 313,350 328,753 A 15,403
12 JIEtE4 = 313,350 328,753 A 15,403
OBZH BALAANML ZOLAQY g
fg= = 313,350
OA2AANE FULANRIE = 282,660
-ZANe8 224y
138,990& » 5 » 222 » 12& 183,467
-ZANRA FH(ANRSEIMN)E
138,990 * 5H » 64 44,477
AN AR DRAY
17,3703 = 150% = 5% = 3bAIZt = 128 54,716
C42E FE=2 30,690
e = 282,659,000& * 4.5% 12,720




SA: sH2AE2E AHI 22
M HIOI22 N3scte EE AIE2Y
el FOXNABM 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
-AH2AEE 282,659,000& * 3.335% 9,427
- YT 9,427,000& * 10.25% 967
-1E8EE 282,659,000& * 1.65% 4,664
-MES 282,659,000& * 1.03% 2,912
ZAEYE FUXNFEYAHN 2SN 328,965 339,512 A 10,547
301 dEtE A = 328,965 339,512 N 10,547
ERIEEE 328,965 339,512 £10,547
OBFA ZAWYE FULARR 49 U =
22 X2 326,875
ONBE FOAAAQY 2 294,860
-2Aed 224+
69,7603 * 118 » 222 « 128 202,584
SN2 FR(AIRBEINLY
69.760% * 118 * 642 49,112
-ZARY ALADRLY
8,720 * 150% * 11 = 25A12F 128 43,164
o4 |22 32,015
-=20133 294,858,000& * 4.5% 13,269
-AH2AEE 294 ,858,000& * 3.335% 9,834
- YL 9,834,000& * 10.25% 1,008
-1Es88s 294,858,000& * 1.65% 4,866
“MHES 294,858,000& * 1.03% 3,038
OFQUZAIRE L=4| 190,000& » 11 2,090
BHSYAL (FY RS NAB2D) 744,019 559,951 184,068
ol 2| 695,935 501,526 194,409
jSlals] 695,935 501,526 194,409
101 e1214| 695,935 501,526 194,409
03 2IAHALZZXHE = 695,935 501,526 194,409
SHEZBRA g 504,551
oJN=3 205,660
-28E Ol & ~ 204 0Ofot
2,595,300& * 39 = 12& 93,431
-174 Ol & ~ 194 0Ofot
2,338,100 * 49 = 12& 112,229
oan=2 122,664
“Jleag 2,772,340% « 7H x 43 x 50% 38,813
-AZ2EG 2,772,340% * 7TH x 23] x 50% 19,407
-HMl = Sl
2,772,340& = 7Y x 63| * 50% 58,220
-4 A2 2,370,910& = 7  37.5% 6,224
OFdH= 100,955
S8R AL =Y
90,000& ~ 78 « 12& 7,560




SN BZRRER UL
Hu: ¥HS YA (BB AT
ol ol e g (el @ e)
SN HH - (EH) - HRAY - BES 0l &k o4 il Hl DS 2
XY Zod+g 70,0008 * 73 * (2g 5,880
~H2LYIIMSZ 130,008 * 7Y * 128 10,920
-bELy 100,008 * 7% * 122 8,400
-XHABHI B EST 500,008 * 1Y * 43 2,000
-fzRay
157,6058 * 7% » 52 » 128 66,195
O=el sl 35,232
L 130,008 * 7% * 122 10,920
- B E0H|
2,804,220% * 60% * 7Y * 23l 24,312
SEFTEIN 13,320
L] 80,0008 * 7% 122 6,720
-flEsy 50,0008 * 7% 122 4,200
R 200,0008 * 1% * 122 2,400
ONHXNRBEINSY 1659608 * 7Y * 23 26,720
OHZTRH 4H2E 22 45,014
O=eoleiz 453,290,640% * 4.5% 20,399
oHLEH 453,290,6409 * 3.335% 15,118
OBy H 15,118,0008 * 10.25% 1,550
ong=s 453,290,640 * 1.65% 7,480
OMTHE & 45,329,0642 * 1.03% 467
osZZLH I =l 6,160
oxgs 90,0008 * 7% * 63 3,780
Ogsts 100,0008 * 7% * 1% 700
Oetm st 60,0008 * 7% * 23| 840
O E D 15,0002 * 7% « 23] 210
O3t 15,0008 * 7% « 23] 210
o<l 15,0002 * 7% « 23] 210
o=z 15,0008 * 7% « 23] 210
OEHZZ2N olYF S| 210
OZI2E =2 IYESHI (401
30,0008 = 7% * 13| 210
OEXZ BEHN 140,000,0008 * 1% 140,000
=l 48,084 58,425 A 10,341
ol =22l 48,084 58,425 A 10,341
201 2Bt Y| 24,324 29,289 4,965
01 At 22l 23,437 28,432 ~4,995
CHES=ERSELIIGIE-ET-[p
500,000% * 14% * 90% 6,300
CEELIPIEET-))
8,000 * 142 « 82 « 128 * 90% 9,677
ouERsE 912
OEFIPY 15,0002 * 1OHAb * 128 * 95% 171




EXN: gHFA2E HA2e
HaM: 2P H (#F 228 22 W)
erel: Jl= 2| (29 a8)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
ORI X 13,000 * S5JHAF = 128 * 95% 741
OFoNEIZSSHAAE HELY
100,000 * 6 = 43| 2,400
O&XZLD| AXES 48,0008 ~ 1CH ~ 128 = 95% 548
O & L& 60,000 = 1 » 60 3,600
02 B232ZH| 887 857 30
oRWER2 263
ogst 350& * h0S 18
OE7| 2,450 * 100= 245
OAHOISTV =4 & 15,000& = 30H ~ 12€ 540
oOd3R= 7,000& * 10H ~ 12& 84
202 044 20,160 25,536 Nb5,376
01 2L Y| 20,160 25,536 AN5,376
O=LHoHI(JI=FHl)
20,000 * 149 » 62 * 12€ 20,160
203 €2 F=&d| 3,600 3,600 0
04 EANSIELRF=XH| 3,600 3,600 0
©J|Z= M (20021 0]56}H) 300,000& ~ 12& 3,600
RS (B2 HABAD) 5,003,900 4,996,556 7,344
WEAHA XK= 5,003,900 4,996,556 7,344
LHEHHX = 5,003,900 4,996,556 7,344
702 1282 5,003,900 4,996,556 7,344
MoIsdE=2 5,003,900 4,996,556 7,344
OZEMHIISMWEE FHASXSE =X D
= 3,409,000,000& 3,409,000
OFFH HAAUAANE FHIASXE F0XA
|2 1,495,000,000& 1,495,000
OSAMZRHIIZSHEAE AMOIS €XII2
99,900, 000 99,900
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& ot ==& 2 1t
SN BFBRRS SHEFM
M Xote 2el
@ Xot= 25 22| (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
gZ2e| 2% ot M 7,115,633 13,002,252 25,886,619
XIgk= 2t 10,197 13,400 A 3,203
ot B85 &2 10,197 13,400 A 3,203
Aste= A2 2el 10,197 13,400 A 3,203
201 L2l 5,197 13,400 A 8,203
01 At 22l 1,197 1,197 0
OXlot=0lERE= BU&E IXA
70,0003 = 18%FA * 95% 1,197
02 22| 4,000 12,203 ~8,203
O=F XY Xot= EX2A=L R 22
500,000& * 42 = 23] 4,000
401 Al HIZ 201 8] 5,000 0 5,000
01 A& HI 5,000 0 5,000
OXot= Exa=d 22|l MH A
5,000,000& 5,000
HY2FZH (SHF 228 o= ) 17,588 18,084 A 496
el 2 gl 17,588 18,084 A 496
JlE&l 17,588 18,084 A 496
201 ¢er24l 6,848 7,228 A 380
01 At 2t 2l 6,848 7,228 A 380
OJlege=dZl 500,000& = 6% = 90% 2,700
O34 (JI=3Hl)
8,000& » 6 * 8 » 12& » 90% 4,148
202 044l 8,640 8,756 A 116
01 = LH o4 1l 8,640 8,756 A 116
O=UWAHI(JIEZHl)
20,000& = 6F * 6 * 123 8,640
203 YR =& 2,100 2,100 0
04 FN2ELSZ=TH| 2,100 2,100 0
OfM2LYRFAHI(102! 0lat)
175,000& * 128 2,100
HWees(stgdacle:? ot 1) 7,087,848 12,970,768 25,882,920
UWEAHAXE(SHERAG=H2E2Y) 7,000,000 11,400,000 24,400,000
St X2E2E 283 7,000,000 11,400,000 24,400,000
701 JIEtSI HSHES 7,000,000 11,400,000 24,400,000
02 BISBELHNIYEES 7,000,000 11,400,000 A 4,400,000
osgHRdt=HMelE2Y 7,000,000, 000& 7,000,000
WEHHX = 87,848 1,570,768 A 1,482,920
JIEtEESIHNEES 87,848 1,570,768 A 1,482,920
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